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General Awareness

Through which of one among the following materials, does sound travel lowest:

Ql Agffaa 5, Reg qrited & H1erm Q @f g ga 8 8 &

Ops: A. T ggf
Gl
B. O %%S
W
c.c q;ﬁer
. Wood
D. a%

The Vijay Nagar Advanced Landing Ground of the Indian Air Force, which was re-
opened recently, is located in

Q2 YRANY a1y J1 1 faory TR TSas S s, ford o1l 81 1 i 3 = fobarn
1 T, B YA B

Jammu and Kashmir

Ops: A. © T 3R IR

B Arunachal Pradesh
TR UeW
. Karnataka
€ e
D. Himachal Pradesh
© feAR@ uew

A jet engine works on the principle of conservation of

Q 3 S goH fh g & Rigid W™ Far g

Linear momentum

Ops: A. ©
ps RCREIIG|
B Angular momentum
- il
c e Energy
D. Mass
SIHIT

"The stars seem to be higher on the sky they actually are" this can be explained by:

Q4 "TR AT H A & 37 S Bl & S 31fei i g1dl & * I8 I gRI
NLEICISIRCHIES

Atmospheric refraction
AgHSI 3UadH
B Dispersion of light

' UDIR bl

Ops: A.



Diffraction of light
UHT H1 faaa-

Total internal reflection
0O\ C
ol HIdRdh UTdcld

In SONAR, we use

Q5 SONAR # 81 TN H3d &

Ops: A.

Infrasonic waves
SIS ad
Ultrasonic waves
e IfAd ai
Radio waves

g oA

Audible sound waves

o g A

Which one of the following is an element?

Q6 fyIId A P AT Uh dd &

Ops: A. T

Topaz

RN

Diamond

BRI
Ruby

=l
Sapphire

B

Which of the following gases is used for refrigeration?

Q 7 yxfiqa & forw fRgfeifad & ¥ o= ) 719 &1 fUan fear S g 2

Ops: A. ©

Chlorine

ENIRE|

Sulphur dioxide
N RESIENICSIES]
Phosphine

Ammonia

ST

In the human body, red blood cells are produced in:

Q 8 {Tg TR & AT Iad DIRAB137 BT I BT @ -

Ops: A. T

Liver
NG

Pancreas

STY



c Bone marrow
S| eI = o

None of the above

DY SR i a s 7a)

Night blindness can be corrected by intake of:

Q9 frgdp Ja= J Xl Bl St fobaT T TbaT R
Ops: A. © Vitamin 3
.. Vitamin B
B. ¢ et &t
. Vitamin C
O Rafmd
~.  Vitamin D
PO Rafm

Who was appointed as the Chief Executive Officer (CEO) of Alphabet Inc. in 2019?

Q 102019 H "3fehIac S "BT JoT AT fABRY fovd FAga fovam mam

Steve Ballmer

. '
OpS. A. @aw

B Satya Nadella
' AT TSl

c o Sergey Brin
o giffeH

Sundar Pichai

D. ﬁﬂ?ﬁﬁl’l’sﬁ

Who was elected as the Prime Minister of the Britain in December 2019?

Q 11 fggter 2019 ¥ foic o1 gemH=t food g1 man 2

—. Gordon Brown
AT
Ops T 13

. David Cameron

B0 s wmA

c Therese.l May
SRS | R

D. Boris Johnson
ARG A

What was the theme of 11th DefExpo held in Lucknow, Uttar Pradesh?

Q 12 a3 IR U= H SMAifoTd 11 d fSth-0 Tad! &1 faug om o7 2

Oos: A € Digital Information of Defence'
P e ) feftea @

Indian Defence role in theTransforming india

B iRl 3ei @1 WRa b uRadd & aTeH



c o Digital Transformation of Defence'
%1 Sfved uRadd

Defence and Indian Economy'

D a1 3R yRd arfoqaw

Where was the India's 1st plant set up to produce diesel from plastic waste opened?

Q 13 e I T SIoid §9H & U, HRd 1 Ugdl Wi dgl Tl T 82

~. Ai 1
Ops: A. © Emalzaw
B Mathura
HY
—. Shillong
C.t E 1-:
D. Kohima

Where is India's first marine national park located in?

Q 14 YRq T ygel T UTdh gl R R § 2

Ops: A. T ;gﬁqg l_:é:f[ oé_%/lofannar
B Bay of Bengal
R [ I K S
c o Gulf of Khambhatkhambat
R G R S
D. Arabian sea
" SREIERR

Which of the following company has partnered with UNESCO to adopt technology in
classrooms?

Q15 ?@f%ﬁﬁm&&%ﬁUWﬂW@rWﬁwwﬁ@w
?

Ops: A C Sam§ung
-.  Lenovo
B.
INGIE]
. Toshiba
-~
¢ RIRE
_. Dell
D.
sd

[ d
English
Q1 Pick the word that is closet in meaning to 'Eccentric'.

Ops: A. ©  Strange



B. ©  Natural
C. T Shine
D. T Gentle

Q2 Ple the word that is closet in meaning to 'Justify'

Ops: A. ©  Defend
B. ¢ Tender
C. T Cruel

D. T Optional

1

Q Antonym of 'Sarcastic":

Ops: A. T Tronical
B. © Derisive
C. ©  Courteous
D. T Saucy

Anton m of 'Vanity'
Q4 v

Ops: A. © Modesty
B. 7 Esteemed
C. T Conceit

D. T Pretension

Q Pick the word that is closet in meaning of the idiom "Make a long story short":

Ops: A. © Come to the point
B. ©  No manners
C. T Allofit
D. Everything

Q Pick the word that is closet in meaning of the phrase "about to":

Ops: A. ©  to be on the point of doing something.
B. ¢ suddenly, without advance warning
C. T with regard to

D. T in addition

Q7 Ammals that eat flesh:

Ops: A. " Herbivorous



B. ©  Carnivorous
C. ¢ Amphibians
D. T Gregarious

Q8 Draw .... map of India.

Ops:A. T A
B. T The
C.T An

D. I Zero article

Doctor says it is .... hopeless case.
Q9 y
2566540

Ops: A. T the
B. T an
C.T a

D. T zero article

Q10 I came the day ..... yesterday.

Ops: A. T after
B. T before
C. T since
D. T over

He rules .... a vast empire.
Q11

Ops: A. T above

B. T upon
C. T  over
D. T under

Q12 Our hoard is little, .... our hearts are great.

Ops: A. T and
B. T or
C. T but
D. ¢ that

Q13 Two .... two make four.

Ops:A. T a



B. T and
C. T  but
D. T an

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.
Q14
Contract
2566543

Ops: A. T Tract

B. ¢ Expand
C. T  Give
D. T Abridge

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Q15
Docile
Ops: A O Vague
B. Gentle
c. © Stupid
D. Stubborn

Mathematics

S, denotes the sum of n terms of an AP, whose first term is a. If the common

d=S-kS_ +S_,, .
difference f n-l 2" then k is equal to

Q1 s, T T JHFR AN & n Ut b TN ! FABid Bl 2. g hT1 mm ug 2 g1 afe
d=Sn—kSn I+Sn2’

=9 90l &7 919 3R JTk RIR §

Ops: A.
B.

C.

2
3
5
D. T 7

If Z; and Z, are two complex numbers such that |Z;| = |Z,| and arg (Z,) + arg (Z») =,
then Z, is equal to

Q2 Tfg 7z, quT z, < T TN TS §, I (24| = 25| AT arg (Z)) + arg(Zy)=n A

7, RIR T

Ops: A. & 27,



Q3

Ops:

Q4

Q5

B. T Z,

)

c.C -7,

None of these

D i o e

If Zy, Z» and Z; represent the vertices of an equilateral triangle such that |Z;| = |Z,| =
|Zthhen

g 7,, 7, IU1 Z, forlt TraTg By & M6 &1 39 TSR HefUd Rd & fb |z)] =
|Z3|E|_d

AT Zi+7Z,=7;3

B.T Zi+Z,+73=0

C.T Z17Z,=17;3

D.C Z-Zy=73-7,

If the equation x>+2x+3=0 and ax2+bx+c:0, a, b, c € R, have a common root, then
a:b:cis
& FHIHROT x2+2x-+3=0 TUT ax’+bx+c=0, a, b, ¢ € R, & Th T YA 8, TF abic

3

CAL T 3200
B. T 1:3:2
C. T 3122
D. T 1:2:3

e = = ¥

If a, b, ¢ are in GP and @

. T T .
TS a, b, c IR TR H G aUr ¢ =07 =¢"" qax,y,
C Xyz%

* then x, y, z are in

AP
. (‘ .
Ops: A R Aoft &

Q6

GP
B o ot &
c o HP
T g 9ot |

None of these

D i d o e

If p, q, r and s are positive real numbers such that p+ q +r + s =2, then M = (p+q)
(r+s) satisfies the relation, when

e p,q,r TUT s T UBR B TATHD IRANAD GBI R B p+q+r+s=2TTM =
(ﬂ) (r+s) TS 9 AP BT, STd
2566588

Ops:A. T 0 <M < 1



B.O 1 =M=<?2
c.oc 2<M<3
D 3<M<4
22 2! 2'.)
= 4+ = 4 R
The sum of the infinite series 2 4l 6! is
22 1 b
SFAUR 2 T A T 6 T T gmran R
Ops: A. T ¢ t1
2
B ‘e €|+1
' 2¢”
ceo -1
2e”
NCEIS
2

If n is a positive integer, then n’ + 2n is divisible by

Q 8 7fg n TP TP QUITh §, TS n® + 2n HIST BT

Ops: A. © ;ﬁ
B 6q

1
¢ 12@(
D.C 13

If a and b are the coefficients of x" and x"" respectively in the expansion of (1+x)", then

Q9 2 TUTb HHE: (14+x)" P IR H x" TUT x" P 0N @, 79

Ops:A. T a=b
B.T a+b=n’
C.T a=nb
D.7 a-b=n

2 —1
A =
If -1 and I is the unit matrix of order 2x2, then A equals to
Q10 Aol 2 1]
gle U1 20 quir2x 2 $If B Uhd 3G (unit matrix) §, 9 A2 SRIER §

Ops: A. © 4A-31

10



B. T 3A-4I
C.T7 A-1
D. T A+1

The value of A, such that the system of equations x-2y+z=-4, 2x-y+2z=2 and
x+y+Az=4 has no solutions, is

Q 11 IHHRUN & BT x-2y+2=-4, 2x-y+22=2 AUT x+y+Az=4 BT BIs & -To! & T A
4

Ops:A. T 0
B. T 1
C.T #1
D.T 3

it % B and I are the roots of the equation x +px+q=0, then the value of the

a 7T
BT a
Q 12 determinant T a Bl
a 7T
57T «a
afe % P gur Y qefievor capxq=0 OT R g PRk [T @ Al grama:
Ops:A. T 0
B.T 2
cC.o 2
D.T 1

If n(U) = 700, n(A) = 200, n(B) = 300 and n(ANB)=100, then n(A'NB'") is equal to

Q 13 gf& n(U)=700, n(A)=200, n(B)=300 TUT n(ANB)=100 I n(A'NB') TR &:

Ops: A. T 300
B. T 350
C. T 400
D. T 500

Which of the following statement is not correct for the relation R defined by aRb, if
and only if b lives within one kilometer from a?

Q 14 JI&=] R S f& aRb 56 & (if and only if) b, a Y TP fHaHicr & <X /AT g, A

gy B1 99 g & q o 91 HYF Sid &

R is reflexive
R W TS §

B. T R is symmetric

Ops: A. ©

11



R JHIHT T g
c o R is not anti-symmetric .
© R Ufo-guftd g e R

None of these

D i o e

e
Let f: R — R be a function defined by ~ T~ N " wherem #n, then
Q15 r—m

iﬁgﬂqﬂRaRim%th:x_”’ﬂﬁminﬁﬁhﬁﬁ%ﬂa
256659

Obs: A f is one-one and onto
P { Theh 3R ATBIEH B
B f is one-one and not onto .
C U 3R ITBCH ol Bad §
f is many one and onto
£ IEUSD 3R ABIGH B 8
f is many one and into

{ TgUD 3R IR AHTBTeh e &

The value of (tan10°+tan35°)+tan10°tan35° is

Q 16 (tan10°+tan35°)+tan10°tan35° T HH B

Ops:A. T 0

1
=
B. 9

C.0 -1
D.O 1

Sec?0

" A
Q17 Sec-0 = 3

Ops:A. T x+y#0

B. T x=y,x#0
C.T x=y
D.T x#0,y=0

The minimum value of 9tan’0 + 4cot?0 is

Q 18 9tan’g + 4cot’0 BT A g
an“ co YAdH g

Ops: A. ¢ 13
B.T 9
C.T 6

12



D. T 12

A:T

oL ;
In AABC, if * then cos”B+cos’c equals

Q19 T
BYST AABC ff, gfe LA= 2 " dd cos’B+cos’c W%ﬁ
2566601

Ops:A. T -2
B. T -1
C.0 1
D.T 0

Cos A _CosB _ Cos C
In AABC, if @ b ¢ and a=2, then area of triangle AABC is
Q20 ‘ Cos A _CosB _ CosC
fAysi AABC H, afg @ b ¢ qUTa=2, 99 AYS AABC FT
RELTS] %’:

'-, 2

sg. unit

V2 qif SHS
2 sq. unit

B. za_rfgaﬂ_s:

-~ V3 sq. unit

V3 gf gars
3 sq. unit

D. 3an373|'7|_5£

Ops: A. ©

Physics

Which of the following expression has a dimensional formula different from others?

Qlﬁﬂ%@ﬁﬁ@f%ﬂ@ﬁmﬁtﬁuﬂg@ﬁﬁm%

2566633
|
5 €0 Ez(eo . -
Ops: A. © 2 permitivity of free space, E: electric field)
. . 1

2
~ €n E (e
g 0 Iﬁaiaﬁléa\ga&ilaamﬁ{gﬂfﬁ)
B O hv (h: Plz}ncks constant, v : frequency)
" hy (h: Wi AEdie, v 3mgfd)
pgh (p: density, g: acceleration due to gravity, h: height)
pgh (p: 91, g : WW, h: Balé)

13



PV
D. € (p: density, v: velocity)
' 2.2
m.‘
2 (p: Y, v: a"‘T)

The acceleration (a) of an object varies as a function of its velocity (v)

s /
as 4 = A V'V where A is a constant. If at t=0, v=0, then the velocity as a function
Q2 of time (t) is given as

TS ] BT ORI (a) ITB HT (v) P Ul H 4 = AV 2wt b e RRi® )
Tfe (+0 ij v+0 B, T THT (¢) & Ul A 37 far Srar &:

3
Ops: A. T =27

4
B. © Lﬂr
4
N )
C.0 —A
4/1:
1 .5
~ L
D. 4/11*

A car starts from rest to cover distance 'd' on a road where the coefficient of friction
between the road and the tyres is p. The minimum time in which car can cover this
distance is proportional to

Q3 foRMaRIT ¥ TR U HR UH 8H TR 'd' g3 a8 Bl & olgl TSb 3R <RI &
gﬁr‘aﬁmwu 8| AqH 99, Fo 9 SR 98 g1 99 & Al 8, JEITT

Ops: A. T UL
B. T u_l
fi_- L
: _1
D. . !_'. 2

A 1.5 m tall girl standing at a distance of 15 m from a fence 5 m high throws a stone
of mass 0.25 Kg at an angle of 45° to the horizontal. The minimum velocity of the
stone to be thrown to fly over the fence is

Q4 1.5 Hiex el ASH! N 5 Hiex Sl T TeRiGaR! F 15 Hex R T B, IRfEGaR
BT 3R 0.25 {5 1 TH TR &faS T 45° BT R Hhcl! § | TR BT YAdH 9T,

ST g8 TeRfIaR) & SW J ToR ST, &
Ops: A. T g: Eﬁysﬁﬁ
102 m/s
B-C afidds

14



13.8 m/s

i .
c. 13.8 AP S
19.6 m/s
i .
D. 19.6 HiAdS

A body of mass M in the form of an inclined plane with a 45° angle of inclination lies
on a horizontal plane. A ball of mass 'm' moving horizontally with velocity 'v¢'
collides with the inclined plane. After the impact the ball bounces vertically upwards
and the inclined plane begins to slide without friction along the horizontal plane. The
velocity of the ball after the collision in its vertical travel is
45° FeTd IV AT A THAA P SBR P 'M' SHHM B Th g Aifcisl adt IR
R R vy 3T Q &ferst oz & Tierehiet m Go0a 1 Ueb 1ie; Tl oicrel & eebvrel
21 TR P U Tig IR SHWR B 3R IBA ST § TUT 7d JHI Afasl ad R
Q 5 TS 0T o fOrrer el & | T o UeiTd] Seafer T H g 7 3 &

O A . H’i'l"o
S:
P M
B o My,
m
/ _
C. Vo / M=m
v M
coy ]/ M—m

A body can rotate in a vertical plane at the end of a string of length L. The horizontal
velocity imparted to the body in its highest position, so that the tension in the string at
the lowermost position is ten times the weight of the body, will be

Q 6 U%h I L aTs &I T SR & R R SeaeR Id o g1 Tobl! & | Swaad fRUfa &
%ﬁﬁ%w%%,ﬁw@ﬁﬁ@ﬁﬁmm%wmww

Ops: A. ,\f[ 3gL

B.© \/6gL
C' C 1;,"’ SgL
D.¢ VgL

15



An empty container is put on the pan of a physical balance and the scale is adjusted to
zero. Small identical balls of mass 10 g each are dropped into the container from rest
from height 4.9 m at a constant rate of 100 balls per second. If the collision between
each ball and container is completely inelastic, the reading of the balance after 5
second will be

Q7 1 @Telt 99 T NP e & TS H @1 R U 3% T B W R
TR R [T T B | U 10 UTH STHM 1 U HHM ¢ faRTHTaRIT H 4.9
Hiex 3 FAE I 100 TS U Jds &1 X A §e4 § RS STt 81 3f vdap g
3R FcH & AT TUE JUId: SR 81 dl 5 Yhe & §IG gl BT UIedid gHT:

Ops: A. T 1%.[
. 2K
. SK
- K

A ball of mass 'm' lying on a frictionless surface is attached to the two elastic springs
of force constant 'k' as shown in the figure. The other two ends of the spring are
connected to rigid wall. The ball can perform simple harmonic motion horizontally.
The ratio of the velocity of the ball at positions equal to one half and one third of
amplitude from the equilibrium position will be
U YYURIGT el Hlg TR R 'm' GoqHM B Ueb Tiq k' & clic b1 g
AT I & Fear R St 3 | B & g¥R &t RR &g dara ¥ 93 71 Tig afas
=TT & TR ST B Ahall § | TR F TS © 319 3R T fags

Q 8 TRUfl TR 7§ o T T SfUTd GNTI:

K m k

MW

- 2
Ops: A. ¢ —
ps 3
’%
0 =
B. 5
- /2
C. 1 =
" |
Do 3 ”i
4 1;; 2

The angular velocity of earth rotation, at which the bodies at the equator become
Q 9 weightless, is (Radius of earth = 6400 Km)

G4t ol &1 HI0TT 7T, oy TR YHe 38T IR gy YREH 81 Sl &, & (Gt P



341 7 6400 T

800 /sec

CALC .
Ops: A-© goo iy Adbs
B 1.25 /sec .
' 1.25 ufd g

c e 1.25 x 107 /sec .

' 1-25 x 102 Ufd Y& s
D. 1.25 x 107 /sec .

T 800 x 107U AHS

A metal rod of Young's modulus 1.5 x 1010 N/m2 undergoes an elastic strain of
0.06%. The energy stored per unit volume of the rod is

Q 10 1.5 x 10" N/m”> T YT T[UI D1 T T BT BS 0.06% YA fagpd gt
81 B8 & Ufd Thish 3ryd A Ifd Sl §

Ops: A. © ggg %;%3
5~ 1800J/m3
" 1800 Sa/H?
o 2700)/m3
" 2700 Sa/AEP
D, 5400 J/m3
5400 S@/AR

A piece of ice containing a piece of iron inside it is floating on water in a container.
When ice melts completely, the level of water in the container will

Q11 TP AR & THS B 3/ 30 1 BT TSl U Fa- H ITH! & SHUR R 8T 8| o d

g% qufa: frad STt g df &9 & Ut &1 TR
Ops: A. ~ Increase
. Decrease
-~
B g
c Remain unchanged
© IgRafdd |
D. Become zero
I EIEE

A uniform circular disc of mass 'M'" and radius 'R’ is rotating in a horizontal plane
about an axis passing through its centre of mass and perpendicular to its plane with
an angular velocity . Another disc of same radius but mass (M/2) is placed gently
on the first disc. The angular velocity of the system now is

Q 12'M UM T4 R' B 31 U THTHM Tiidt gohclt & aat H S0 GoqdM &g d
TToRH aTel! T ad & Tadd 3&f & TRa: o SV a7 J A 6! g1 39! B
TUT (M/2) SHHT B Teb QORI Idball ol Ygall debdll b HUR 19U I 3@ o
ST 8| 31§ R &1 wiofig 9 &

17



Ops: A. %w
. 2
f [——

B. 3 w

C. T Ll;cu
D.T @

The period of a simple pendulum hanging from the ceiling of a stationary cart is T.
When the cart rolls without friction down the inclined plane with angle of inclination
0, the period of oscillation

Q 13wmwﬁwﬁmcwaww e T ATAABTA T, & | S1d Tg Tt 0
B BI & d A I {1 g1 & 2 qeavel! 8, O Sa BI Maceprd

.. increases
Ops: A. € ¢ ST %
- decreases
BT geamrd
c o remains unchanged
© SRafddwars
D. becpmes infinity
" SFdGI gl

Four identical rings of radius R and mass M are placed at the corner of a square in x-
y plane such that each ring touches the two rings tangentially. The moment of inertia
of this system about z-axis passing through the centre of the square is

Q 14 M SoUHM dYT R ST & IR THTHAM el &l X-Y dd H U & & B IR 39
UhR I 1T § b U aod &l gl & WRRRgg garg | i s g d

ToRAZ-31& & UNd: 39 g &1 TTed 3meuf &:
Ops: A. T 8 MR?

B. " 7MR?

C. " 6MR?

D. T 4 MR?

A police car moving at 5.4 Km/Hr sounds siren emitting frequency of 550 Hz which
is reflected back from a stationary object some distance ahead of the car. The number
of beats heard per second by an observer sitting in the car is (Assume velocity of
sound in air= 330 m/sec)

Q 15 5.4 fHit/dier 3t a1 A fa=id e gierd R ¥ I&fSTd 550 8¢ M1gfd S
ISR BI G DR Y $S g3l 3 FRYA T FRR ¥ ¥ Ul BT 3R Wafcid gl
O 81 PR T 96 Th Yeaidh gR1 g Uid Jbs fawdal o1 9= g: (FH aitford fs
B4 H &1 T o1 330 Hi/A)

Ops: A. T 4
B.T 5

18



A uniform string of mass M and length L is hanging from the ceiling. If a transverse
wave travels along the length of the string, then the time taken by it to travel the
whole length is

Q16MW@TLmﬁWWQWﬂW@IWT@%IHﬁWﬁ

TS & URa: T SR T I &, al 39D 1] adlls ga | @ 9977 &

Ops: A. ".i
B. C 1 2:
/3L

“C Wy
/4L

D

In an organ pipe open at one and closed at the other end, two successive harmonics
have frequencies 560 Hz and 720 Hz. The length of the pipe is (Assume the velocity
of sound in air =330 m/sec)

Q 17 T T AT, it Ueh R IR et adT g2k RR W &g &, 1 i et
3t 560 TS AUT 720 BEST ¢ | I AT BT TS B: (A wiifore fob gar

g+t &1 a7 I 330 H/A)

20.6 cm
AL
Ops: A5 ¢ aeft
41.25 cm
'
B. 41.25 At

103.13 cm
'
¢ 103.13 T4t

206.25 cm
D. T
206.25 JHT

The equation of the displacement of a wave is y (in

=10( '.,-";3 sin 27t + cos 27t)

cm) . The amplitude of the wave is

Q18 T T & FaRUTT 1 Fefiepvun y (et & =10(y/3 sin 227 + cos 2m1) 3| FEr T

3T &

10 cm
AL
Ops: A. 10 A
17.3 cm
-
B. 17.3 99T
20 cm

'
C. 20 IHY

D. T 40cm

19



40 9T

200 gram of ice at -10°C is mixed with 200 gram of water at 6 °C in a calorimeter. If
the specific heat of ice and water are 0.5 and 1.0 cal/gm°C respectively and the latent
heat of ice is 80 cal/gm, the temperature of the mixture in thermal equilibrium is

Q 19 Th HARIHIEI H =10 °C BT 200 TTH T BT 6°C &b 200 UTH Sd § AR A1 8|
gfe 9 IR 51d &1 fAfRIY SR HHRT: 0.5 3R 1.0 FARIATH °C 8 a1 9% &I
T B o ST 80 HARIAIH g, A ST A § {01 67 d19 3

Ops: A. T 0°C
B. T -2°C
C. T -10°C
D. T 6°C

An ideal gas having pressure P, volume V and temperature T is allowed to expand
adiabatically until its volume becomes 4V while its temperature falls to T/2. The
adiabatic exponent of the gas is

Q20 T TG 14, a1 A1d P ST V AU AU T B, Pl SisHa: faarid fvan
ST § fob ITHT ST 4V 81 STl & SR 19 RS 172 B A1 & | 19 BT

SGI™ ITdI &:

Ops: A. C 1.66
B. C 1.50
C. C 1.40
D C 1.33

Chemistry

Which one of the following will be most reactive for alkaline hydrolys is

Q 1 fAgfad # ¥ &H T &g Sasuye & Ufd Jaide fharid g1

CH; - CH, - CH, - CH - COOH

Ops: A. ©
Br
CH; - CH, - CH - CH - COOH
B. ¢ S
Br
.. CH; - CH - CH, - CH, - COOH
C.t | : -

Br
D. ¢ Br- CH, - CH, - CH, - CH, - COOH

The most suitable reagent for the conversion of methylbenzoate to be benzyalcohol is

Q 2 AT s=lte ¥ 9f~Td Tehlgldl U HR & o Iad Sugad e §

Ops: A. T Hy/Pd-C
B. 7 LiA/Hy4
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C. T NaBH,4
D. ¢  Li/NH; (1)

Which one can be synthesized by Wurtz reaction

Q 3 g9 3ifiiferar gRT fraep! Txaiftid forar ST gear 3|

Ops: A. © Toluene
B alkyle halide
' NEAENEKNIES
c o alkane
D. alkene

Which one of the following made through condensation polymerization.

Q 4 fAgfafad & I frus! Yo SgaD IR0 gRT ST ST g |

Ops: A. T %_%).%
B Bakelite
c o Pglythene
CINIRIE]
D. Acrilan

Which one of the following has hexagonal crystal structure

Q 5 fAgfafad # A oiF Yeh vy fhed I 3@ B |

Ops: A. T BaSOq,
B. T CdS
C. T Sn0O,
D. T Na,SOy . 10H,0

Which of the following is anti ferromagnetic.

Q 6 fagforiad & ¥ &9 Ufd die T 1a g
Ops: A. © H0

B. T Cl‘Oz

C. T MnO

D. T MgFe204

Q7 Synthesis of amonia is represented by the following reaction.
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N + 3H — 2NH

2(g) 2(g)
AH°= —91.8KJ mol!

What will be enthalpy of decomposition of ammonia according to reaction.

3(gz)

2NHy,) = N, + 3Hy ; AH =2
ST &1 fAmtor g sifvferar gr efar mar 21
Ny + 3Hyg — 2NH,

A H°= —91.8KJ mol!

fYTHAT & SR NH[sum]3 & faee & e sififehar &t T o ghfl
INHy, — N, + 3Hy) ; AH® =7
Ops: A. © -91.8 kJ mol

B. T +91.8 kJ mol’
C. T -45.9KkJ mol”
D. T +45.9 kJ mol’

2(g)

What will be the pH of -001M Ba(OH), solution

Q8 001M Ba(OH), [d@T= PH &1 HE 8RTI

Ops:A. T 20
B.T 84
C.T 113
D. T 27

Which of the following aqueous solution must have the highest boiling points.

Q9ﬁﬁﬁmwﬂuﬁwmmﬁé$wmmm%n

Ops: A. T 1.0 M NaOH
B. T 1.0 M Na,SO4
C. T 1.0 M NH; NO3
D. T 1.0 M KNO;3

Which of the following is the correct for increasing bond order.

QlOﬁéﬁ«l@ﬁﬁﬁ?@@ﬁd%ﬁ‘rmﬂé’rwm

Ops:A. © 03 >0, >0, >035
B.C 0y <0,<0,<0;
C.C 0;=0,0, >0
D.C 0, <0,>0,<05
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Two particles A and B are in motion. If the wavelength associated with particle A in
motion is 5 x 10™® m. What will be the wavelength associated with particle B if the
momentum is half than that of A.

Q 11 QI &HUT A TF B 7T BR G ©, TG HUT A I TN a TG HIAM S x 10° m g al
WBSWWW%E&‘WHHW@THW%WBWWWA%@W
3T B

Ops:A. T 5x10%m
B.T 10x10*m
C.7 25x10%m
D.7 02x10%m

The radius of which of the following orbits is same as that of the first Bohr's orbit of
H atom?

Q 12 fagfaifad o ¥ forads el &t AT &1 0 gISgior WRHTY & YYH Tig H&f i
28T o SRTSR g

Ops: A. T He' (n=2)
B. ©  Li** (n=2)
C. T Li** (n=3)
D. T Be* (n=2)

Which of the following substances is serving as a reducing agent in the following
reaction?

frafied o 9 e we &t 3o &1 A IS SIoH URATY] & TUH JIg B DI
QB e wReR g

14H*+Cr, 07 +3Ni > 2Cr3* + TH,0 + 3Ni2*

Ops: A. ©  H,O

B. T Ni
C.T H

- 2=
D. i C]—'} {)?

Which is the strongest acid?
Q 143y & wad Uael 3T STl
Ops: A. & H(C/O)0O;

B. & H(C/0)0Os

C. T H(C/0)O

D. ¢ H(C/O)

Q 15 IUPAC name of compound
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f&U 7T AfH BT [UPAC H BT
0 CH,

l>_g N 4 il is

Ops: A € N, N - dimethyl cyclopropan carboxamide
PR NN - STRART e STeiaadsS

N - methyl cyclopropanamide
N -
Cyclopropianomide
S FNAUTHISS

None of the above

D Foejod & A g 7

Which of the following reaction is not correct.

Q 16 fAgfafed # 3 i it sififosar w8l 781 &
MnOj + 8H" + 5Fe”" — 5Fe’" +
Ops: A. © i
Mn®" + 4H,0
B. ©
2Mn0,+4KOH + 0, — 4KMnO, + 2H,0
C.© 2Na,CrO,+2H" — Na,Cr,0, + 2Na"+H,0
ATy = NaLhUy a Tt
b KaCrO; + THyS0.+ 6KI — 4K,S0,+

Which of the following compound will give tribromo derivative when treated with
Q17 bromine water.

9 & § SH-91 A S STa o 91 SUDRd B UR SRS I G?
2566699

CH,DH

Ops: A. &

CH,

Q)
OH

CH

C(_‘ tsflll

CH,

D. ©

OH

Q 18 If E° Cu**|Cu = 0.34V and E° Ag*|Ag = 0.80V, what is the emf of the cell at 298 K?
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g B° Cu®|Cu = 0.34V Td E° Ag'|Ag = 0.80V, 9 I &1 faggaard® 9 298 K
W

CulCu?™ (0.01M) || Ag™(0.01M)|Ag
Ops:A. T 040V

B. T 046V
C.T 050V
D. T 052V

The dark purple colours of KMnOy is due to

Q 19 KMnO, T 8T ST 37 fH T SR g1

d - d transition

: - .
Ops: A0 4 g Hepmun

B Liggnd fielc} transition

- forls & HepHur
Charge transfer transition
ST RITRU HehHUT
o- T+ transition

o- + b HU[

The number of ¢ and © bonds between two carbon atoms in CaC, is

Q20%ﬁ€raﬂé=rqu$nwc®nw‘faﬁm@ﬁ

Ops: A € Three o bonds and no & bonds .
P T 6 T 3R 3R ﬁ‘s‘ n T 8]

Two m bonds and one 6 bond

& T 3R TH o T

Two o bonds and one  bond

Vo T™ 3R UDh 7 %

One 7 bond and one ¢ bond

TH 1 T 3R TP o T

B. ©

C.

D.
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AME CET 2021 12 NON-PCM

General Awareness

Q1

Ops:

Q2

Ops:

Q3

Ops:

Q4

Ops:

Q5

Ops:

Through, which of one among the following materials, does sound travel lowest:

fFrafafaa d @, fea Tt & w1ew A wafs g gad 9 adt 2:

A,
B.
C.
D. ¢~

Air
Bdrl
Glass
RIS IES

Water

urt

Wood

KL

The Vijay Nagar Advanced Landing Ground of the Indian Air Force, which was re-opened recently, is located in

YR IR A1 T faoa TR saivs dAfeT aids, o g1ar 81 # v 3 3= forar o o1, weT fRua 2

A,
B.
C.
D. ¢~

Jammu and Kashmir

S 3R HR

Arunachal Pradesh
SRV U

Karnataka

Himachal Pradesh

A jet engine works on the principle of conservation of

S $9 e & RIsid WP wrar g
A. ¢ Linear momentum
Y& Tt
B. ¢ Angular momentum
C. ¢ Energy
D. ¢ Mass
EUIE)

"The stars seem to be higher on the sky they actually are' this can be explained by:

"R IId § AT A f57d F2 21 @ ST 31t Udid gid @ " U8 SU® gIRT HHSIHT Sl HhdT @ :

A. ¢ Atmospheric refraction

B. ¢ Dispersion of light
YUDBIR BT

C. ¢ Diffraction of light
UHIR BT fage=

D. ¢ Total internal reflection
Fd AP WRIae

In SONAR, we use

SONAR # 89 TURT &34 8

A. ¢ Infrasonic waves
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PTG a8t

B. ¢ Ultrasonic waves

C. ¢ Radio waves

e a3
D. ¢ Audible sound waves
gy taf a3
Q6  Which one of the following is an element?
IREINICEE R K p K IR G
Ops: A. ¢ Topaz
RCRYG|
B. ¢ Diamond
C. ¢ Ruby
=4t

D. ¢ Sapphire

Q7  Which of the following gases is used for refrigeration?

=it & fore fraferfaa & @ @19 O 89 &1 i frar sirar @ 2

Ops: A. ¢ Chlorine

B. ¢ Sulphur dioxide
bR SIS
C. ¢ Phosphine

D. ¢ Ammonia

ST

Q8 In the human body, red blood cells are produced in:

A9 IR § AT Iad PIABTSH $TIATGA BT @ :

Ops: A. ¢ Liver

R
B. ¢ Pancreas
SAT™HY
C. ¢ Bone marrow
SRy 7T
D. ¢ None of the above
IWRIed & A PIS 81
Q9 Night blindness can be corrected by intake of:
fPaP A9 A Wi # S Far T IFare
Ops: A. ¢ Vitamin A
ICEIEERY
B. ¢ Vitamin B
faeftm &t

C. ¢ Vitamin C

faerfim <t



Q10

Ops:

Q11

Ops:

Q12

Ops:

Q13

Ops:

Q14

D. ¢ VitaminD

Who was appointed as the Chief Executive Officer (CEO) of Alphabet Inc. in 2019?
2019 § "IEHTAC §F "B G SRRt St {5 fgepa favar man

A. ¢ Steve Ballmer

e IR

B. ¢ Satya Nadella
|1 A8

C. ¢ Sergey Brin
ﬁ?ffaq

D. ¢ Sundar Pichai

e forarg

Who was elected as the Prime Minister of the Britain in December 2019?

TR 2019 ¥ f3es &1 g {67 g7 M 2
A. ¢ Gordon Brown

NIERECIRE
B. ¢ David Cameron

C. ¢ Theresa May
AT H

D. ¢ Boris Johnson

What was the theme of 11th DefExpo held in Lucknow, Uttar Pradesh?

WS, SR YW H ATAford 11 9 fEh= ol &1 fawg =m ot 2

A. ¢ Digital Information of Defence'
& ot f$Rred gae

B. ¢ Indian Defence role in theTransforming india

YR I&T T HRA & URad= & arer

C.  Digital Transformation of Defence'

& 31 feforea ufvada

D. ¢ Defence and Indian Economy'

&I 3R R srferawat

Where was the India's 1st plant set up to produce diesel from plastic waste opened?

RS A% A SIVd §91 & U, HRd ST U8l Wic $gl Gl 141 82

A. ¢ Aizawl

B. ¢ Mathura
HYT
C. ¢ Shillong

D. ¢ Kohima

ifeHT

Where is India's first marine national park located in?

YR BT Ugal G Ui Sl iR fRIA 8 2
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Ops: A. ¢ The gulf of Mannar
AR P @It

B.  Bay of Bengal
CUIGK KGR
C. ¢ Gulf of Khambhatkhambat

THIE B @rst

D. ¢ Arabian sea

3R IR

Q 15 Which of the following company has partnered with UNESCO to adopt technology in classrooms?

79 A fF9 $U 3 UNESCO & 1Y URfigR A Menfie &) 7 &4 o 3rg=mar g2

Ops: A. ¢ Samsung
B. ¢ Lenovo
C. ¢ Toshiba

D. ¢ Dell

d

Q16 Facebook launches cryptocurrency which allows users to make financial transactions across the globe. It's named as:

Hg® F gRT AT B 7S fppiee ot P fay w A ffm v F egufa dan e, s1aman @ 2

Ops: A. ¢ Dobil

Siferet

B. ¢ libra

IEL

C. ¢ cryco

D. ¢ Digicy

Q17 Rustom-2, which crashed in Karnataka recently, was a/an

T -2, St g1 &1 § PAlcd W gHe-TIRd g 4T, T AT

Ops: A. ¢ Fighter Aircraft
aeTe faur

B.  Helicopter

C. ¢ Transport Aircraft
uRag faum

D. ¢ Unmanned aerial vehicle

g fed (Faafed ) aradig ared

Q 18 Which of the following are the characterstics of electromagnetic waves ?
(A) They are elastic waves.
(B) They can also moves in vacuum.
(C) They have electric and magnetic components which are mutually perpendicular
(D) They move with a speed equal to 3 lakh meters per second
Select the correct answer using the code given below : !
fFrafifae 9 @ #19 O fagga geeta ol i Auard § »
(A) q TR T §
8) q Fafa # +ff em g gt €
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Ops:

Q19

Ops:

Q20

Ops:

Q21

Ops:

Q22

Ops:

(C) 379 fagyd iR gedIg uecH g1 § , ol U gﬂ’\’é?amatﬂ%%
(D)%smrmuﬁrm%waﬂmﬁaﬁ?ﬁ

A fau 1T Fe &1 wahT R 98 W g
A. ¢ 1,23and4
1,2,3 304
B. ¢ 1,2 and4only
Fad 1,2 3R 4
C. ¢ 2and3only
Haa2 3R 3
D. ¢ 3 and4only
Haa 3 3R 4
Which one of the following is a non-metallic mineral ?
Frafafaa & 3 o9 a1 te sianfas @ g 2
A. ¢ Iron
B. ¢ Mica
HYIDP
C. ¢ Copper
GIEN
D. ¢ Bauxite
CICSIES

Which one of the following is a Rabi crop in the Northern States of India ?

frrafefaa # 9 #1991 HRd & ST I A I P B g 2

A. ¢ Rice
rdd
B. ¢ Bajra
qTeRT

C. ¢ Barley

D. ¢ Ragi

Lui|
Pradeep Port is located on the delta of river
URTEN d5e foha T & ST fRa g 2
A. ¢ Rihand
B. ¢ Ganga

RICII)

C. ¢ Mahanadi

D. ¢ Baitarani

Which one of the followmg hypothesis/ theory explains the origin of the universe ?

fFafafaa & ¥ 19 @ uReear Rigia sais 3t Safv 3t aren wxarg 2

A. ¢ Nebular hypothesis

UReTHT (AgeR Ui
30



B. ¢ Binary theory

feamumdt frgia (arg8 )
C.  Big Bang theory
frsia (far o)
D. ¢ Planetesimal hypothesis
TeT0] RS e (WA Rie grgurdife)

Q23 Which among the following struggles, based on Gandhi's phllosophy of Satyagraha involved the industrial working class ?

' FATIE ' &= UR SmuTRa i & fAuferad Joul # | faw shenfie yftre ovf mfa ur 2

Ops: A. ¢ Champaran

TURA

B. ¢~ Kheda
sl

C. ¢ Ahmedabad
SEHGTSTG

D. ¢ Bardoli

Q24 Which of the following property of sound is affected by change in air temperature ?

aTg ¥ qTIHT § ufad= ¥ wafy o1 Prafaied § @ S ar o aHiRd e 2

Ops: A. ¢ Amplitude

fewr

B. ¢ Wavelength
C. ¢ Frequency

D. ¢ Intensity

Q25 The directive principles incorporated in the Indian Constitution have been inspired by the constitution of :

YR Sfaer # e Ffafrdwe Rigid feae @A ka2

Ops: A. ¢ Canada
BhATST

B. ¢ Ireland
C. — USA

3mfyeT

D. ¢ Australia

Q26 The common name of sodium bicarbonate is :

ANfETH ISPEC PTIATATH FATE ?
Ops: A.  Baking powder
Iy
B. ¢ Baking Soda
afT AreT
C. ¢ Sodaash
T

D. ¢ Sodalime
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ST ATSH

Q27 [If there is one million Mg* ions in MgCI’, how many chloride ions are there ?

gfg Mgcr # ts faferaT Mg 3maA €, ) SR FaR1gS o fraa & 2

Ops: A. ¢ Ten million

&3 faferas

B. ¢ Two million

3 fafere=

C. ¢ Half a million
3 faferas

D. ¢ One million

s faferas

Q 28 Soilless agriculture refers to :

RRREIPRA P AT HAT 2
Ops: A. Il}ter-cropping
3[Rl W

B. ¢ Sericulture

I I

C. ¢ Hydroponics
oId wad=

D. ¢ Hygroponics
Hadq

Q29 The gas that causes suffocation and death when coal or coke is burnt in a closed room is :

oiq fareft dg FER W FIgar serar SraT @ $i W A9 g 3R g BT SR 01 8 2
Ops: A. ¢ Ethane
EOL
B. ¢ Carbon di-oxide
FIa TS - S S
C. ¢ Methane

LIE |

D. ¢ Carbon monoxide

P AAISTRITSS

Q30 Name the first Asian country to Orbit Mars

HITE o URpHT H&T H 9H ardl UyH TRETS S0 1 79 9138 2
Ops: A.  Japan
ST
B. ¢ China

a=

C. ¢ India
HRd

D. ¢ Pakistan

LIS
2English

Q1 Pick the word that is closet in meaning to 'Eccentric'.

Ops: A. = Strange



Q2

Ops:

Q3

Ops:

Q4

Ops:

Q5

Ops:

Q6

Ops:

Q7

Ops:

B. ¢ Natural
C. ¢ Shine

D. ¢ Gentle

Pick the word that is closet in meaning to 'Justify’

A. ¢ Defend
B ¢~ Tender
C. ¢ Cruel
D

¢~ Optional

Antonym of 'Sarcastic':

A. ¢ Ironical
B. ¢ Derisive
C. i Courteous
D

~ Saucy

Antonym of 'Vanity':
A. ¢ Modesty

B. ¢ Esteemed
C. ¢ Conceit
D

¢~ Pretension

Pick the word that is closet in meaning of the idiom '""Make a long story short":

A. ¢ Come to the point
B ¢~ No manners
C. ¢~ Allofit
D

i~ Everything

Pick the word that is closet in meaning of the phrase "about to"':

A. ¢ to be on the point of doing something.
B.  suddenly, without advance warning

C.  withregard to
D

¢~ in addition

Animals that eat flesh:

A. ¢ Herbivorous
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Q8
Ops:

Q9
Ops:

Q10
Ops:

Q11
Ops:

Q12
Ops:

Q13
Ops:

B.
C.
D.
D

A,
B.
C.
D.

Doctor says it is .... hopeless case.

A. ¢ the

B. ¢~ an

C. ~ a

D. ¢ zero article
me the day ..... yesterday.
A. ¢ after

B. ¢ Dbefore

C.  since

D. ¢~ over

He rules .... a vast empire.
A. ¢ above

B. ¢ upon

C. ¢ over

D. ¢ under

Our hoard is little, .... our hearts are great.

>

~

~

T 0 ¥
"

Carnivorous
Amphibians

Gregarious

raw .... map of India.

A

The

An

Zero article

and

or

but

that

Two .... two make four.
2567050

A,

a



Q14

Ops:

Qi1s

Ops:

Q16

Ops:

Q17

Ops:

Q18

Ops:

B. ¢~ and
C. ¢ but

D. ¢~ an

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Contract

A. ¢ Tract

B. ¢ Expand
C.  Give
D. ¢ Abridge

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Docile

A. ¢ Vague

B. ¢ Gentle
C.  Stupid
D

¢~ Stubborn

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Erotic

A. ¢ Wandering

B. ¢ Given to mistakes
C. ¢ Difficult
D

{~ Amorous

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Sporadic

A. ¢ Epidemic

B. ¢ Whirling

C. ¢ Occasional
D

{~ Stagnant

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Bountiful

A. ¢ Pretty
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Q19

Ops:

Q20

Ops:

Q21

Ops:

Q22

Ops:

Q23

Ops:

B. ¢ Generous
C. ¢ Shameful

D. ¢ Spiritual

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Bucolic

A. ¢ Citified

B. ¢ Rustic
C. — Sick
D. ¢ Intoxicated

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Fictitious

A. ¢ False

B. ¢ Fraud
C. ¢ Foul
D. ¢ Flattering

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Obscene

A. ¢ Dirty

B ¢~ Unhealthy
C. ¢ Indecent
D

¢~ Unwanted

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Proscribe

A. ¢ Allow
B. ¢ Prescribe
C. ¢ Banish
D

{~ Advance

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Prone

A. ¢ Thrown Forward
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Q24

Ops:

Q25

Ops:

Q26

Ops:

Q27

Ops:

Q28

Ops:

B.
C.

D.

Disease
Supine

Inactive

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Gluttony
A,
B.
C.
D.

Happiness
Contentment
Satisfaction

Greed

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Sozled
A,
B.
C.
D.

Cultured
Drunk
Moderate

Burning

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Deplete
A,
B.
C.
D. ¢

Take Away
Fill
Make Greater

To Exhaust

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Devoid
A,
B.
C.
D.

Stupid
Lacking
Evasive

Hopeless

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Resolved

A,

Summarised
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Q29

Ops:

Q30

Ops:

B. ¢ Dispelled
C. ¢ Strengthened

D. ¢ Tangled

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Incite

A. ¢ To cut off

B. ¢ Arouse or stir up

C. ¢ Commence

D. ¢ Perceive the inner nature of a thing

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Parasite
A. . Disease
B i~ A less of motio
C. B one that clings
D B Exterminator

3General Intelligence & Reasoning

Q1

Ops:

Q2

Ops:

Q3

Which of the following words missing in this series SCD, TEF, UGH, , WKL?
39 @d # FAgfeiRad o 9 &9 97 ec SCD, TEF, UGH, WKL TS § 2
A. ~ CMN

CMN
B. —~ Ul

UJI
C. ¢~ VI

\20
D. ¢~ UT

T
Which of the following words missing in this series CMM, EOO, GQQ, , KUU
39 sRgar ¥ FAgffad & ¥ & 91 Wsg MM, E0O, GQQ, ,KUU TS § 2
56709
A. ¢~ GRR

GRR
B. ~ GSS

GSS
C. ¢ ISS

ISS
D. ~ ITT

ITT

Look at this series: 2, 1, (1/2), (1/4), ... What number should come next?

3 4T/AT BT W : 2, 1, (1/2), (1/4), ... 3T DI Y T 3Tt AR W?
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Ops:

Q4

Ops:

Q5

Ops:

Q6

Ops:

Q7

Ops:

A~ (1)

B. ¢~ (1/8)

C. ¢ (23

D. ¢~ (1/16)

Look at this series: (1/9), (1/3), 1, , 9.What number should fill the blank?

SO YFAT DI W : (1/9), (1/3), 1, , 9 Nad R &1 T Tem #f wR_A1 =nfge?

567098

A~ (253)
B. ~ 3

C. ¢~ 6

D. ~ 27

Window is to pane as book is to

faeP! BT S T Bhad A § del JY fPaa H1e ..

A. ¢ novel
SUA™
B. ¢ glass
RIS
C. ¢ cover
HdR
D. ¢ page
kL]

Odometer is to mileage as compass is to

@E@Iﬂamﬁﬁmmﬁa@r%aﬁmmm%

A. ¢ speed
g
B. ¢ hiking

C. ¢ needle

D. ¢ direction

Doctor : Nurse :: ? : Follower
Slgex . T 2 \’ﬁqti
A. ¢ Employer
B. ¢ Leader
T

C. ¢ Worker

D. ¢ Manager
UqYsdh
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Q8

Ops:

Q9

Ops:

Q10

Ops:

Q11

Ops:

Q12

Ops:

In a certain code 'MISSIONS' is written as 'MSIISNOS'. How is 'ONLINE' written in that code?

U (A3 B H 'MISSIONS' BT 'MSIISNOS' foraT SITdT @ 1 39 1€ # 'ONLINE' 3 forar S g 2

A. ¢ OLNNIE

B. ¢ ONILEN
C. ¢ NOILEN

D. ¢ LNOENI

In a code language if POSE is coded as OQNPRTDF, then the word TYPE will be coded as

HTST H IS POSE & OQNPRTDF & U H I &d a1 ST g, @ TYPE Tsg ol HIfSd b S
A. ¢ SUXZOQFD
B.  SUXZQOFD
C.  SUXZOQDF

D. ~ SUXZQODE

Pointing to a photograph, Vipul said,She is the daughter of my grandfather's only son. How is Vipul related to the girl in
the photograph?

TP TR & IRB IURT B U fAYT 3 BT 98 W ST & IHhald o9 B 9l g 1 "BIerd J dasa! I faga o

REIRC R

bss7103

A. ¢ father
fOar

B. ¢ Dbrother

C. ¢ cousin
TR UTS

D. ¢ uncle
CIEI

A is B's sister. C is B's mother. D is C's father. E is D's mother. Then, how is A related to D?

A, BB TETBC,BHIHAIED, CHIUABE, DB ATS R A, D A FT TfIa g 2

A. ¢ Grandfather

qlal

B. ¢ Grandmother
ardt

C. ¢ Daughter
CEl

D. ¢ Granddaughter

One morning Udai and Vishal were talking to each other face to face at a crossing. If Vishal's shadow was exactly to
the left of Udai, which direction was Udai facing?

U JaE Iad 3R =T Ueh guR § S - A &1 6% g 3 1313 [axa &1 11 3¢ & a8 3R ot
0 354 frd feRm T SR o1 2

A. ¢ East

B. ¢ west

R
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Q13

Ops:

Q14

Ops:

Q15

Ops:

Q16

Ops:

Q17

C. ¢ north

D. ¢ south

af&or

Preeti went 15 km to the west of his house, then turned left and walked 20 km. She then turned East and walked 25 km
and finally turning left covered 20 km. How far was she from his house?

Uit 3o eR 9 Uiy H 15 e 77, O ST ST SR o fobHl =reft 139 iR gd 1 ok ¥ fobam 3R 25 ol
I dait SR SRR F a1 BT 3R TS & 20 fHH it 1 98 3UA &R ¥ fopaq g o

A. ¢ 10kms
10 fopt
B. ¢ 20kms
20 fopet
C. ¢ 30kms
30 fopdt
D. ¢ 40kms
40 fopet

Choose the word which is different from the rest.
9% (G g ofl SThdl I ST 8l 1

A. ¢ Rigveda
B. ¢ Yajurveda
C. ¢ Atharvaveda

3yddg

D. ¢ Ayurveda

Choose the odd one out

fawm

A. [ screw
|

B. ¢ Hammer
gahg

C. ¢ needle

T«
D. ¢ Pin

o

Arrange the given words Alphabetical Order and choose the one that comes first.

Wwﬁmwﬁm@maﬁeﬁv%ﬁ&nﬁﬁaﬁﬂﬁ
A. ¢ Science
B.  Scrutiny
C. ¢ Scripture

D. ¢ Scramble

In the word ECONOMETRICS, if the first and second, third and fourth, fourth and fifth, fifth and sixth letters are interchanged
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up to the last letter, what would be the tenth letter from right?
ECONOMETRICS ¥/eq # , Ife Ugal 3R gaR1 , RT3 AT, =t 3R ufea , g $ik 3o $ar , sifed

ﬁ?wwwﬁmw%a‘raﬁﬁaﬂ?ﬁa{mwm?

Ops: A ¢~ O
B. ~ R
C. ¢~ N

D ~ 1

Q18 IF '+'stands for '-', '-' stands for 'x', 'x' stands for '+' and '+'stands for +'then what is the value of 56x7+13-11+15- 8+2-7?
g+ I ef o H e, A d e x §, X @13 1+ § 3R+ BT 3 1+ B A 56x7+13-11+15- 8+2-7 BT HH ST § 2
56711

Ops: A. ¢ 30

B. — 45
C. ¢~ 60
D. ~ 90

Q19 583 isrelated to 293 in the same way as 488 is related to

583 BT IHY 293 J IU TRE g oI 488 BT JY § o
—

Ops: A ¢~ 291

B. ¢ 378
C. ¢ 487
D. ¢~ 3581

Q20 Find the missing number in following series. 11 : 25:: 17 :
fafafad skae § g S A i 2 11 :25: 17 ¢
Ops: A ¢~ 33

B. ¢~ 28
C. ¢~ 41
D. ¢ 37

Q21 Select the correct combination of mathematical signs to replace ? signs and to balance the given equation. 8§ 75?27?72 ? 4

W%WWW%WWWWﬁWWWW@WWW%S? 522272
Ops: A ¢~ =x++

B.  x=++

C.  »x+==+

D. ¢~ +x=+

Q22 IfP% of P is 36, then P is equal to:

i P BT P% 368, I P SRISR BRI
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Ops:

Q23
Ops:

Q24
Ops:

Q25

Ops:

Q26
Ops:

Q27

Ops:

B. ¢~ 60
C. 600
D. ¢~ 3600

40.83x1.02x1.2=?

A. ¢ 41.6466
B. ~ 42479532
C. ¢ 49.97592

D. ¢ 58.7952

729:3::64: 7
A, ¢ -686

B. ¢~ 0686

C. ¢ 1

D. &~ 2

Iron: anaemia::Sleep: 7

el : TadTedd s HAlg: 2

A. ¢ Somnambulism
e & e

B. ¢ Dreams
J94

C. ¢ Insomnia
3t

D. ¢ Nightmare
gRT U]

Complete the series : 64 128 92 220 148 404 ?

A, ¢ 332
B. ~ 296
C. —~ 276
D. ¢ 260

Complete the series : 5, 6, 16,57 ? 1245, 7506

mﬁqﬂaﬁzs, 6, 16, 572 1245, 7506

A ¢~ 6
B. ¢~ 44
C. ¢~ 57
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Q28

Ops:

Q29

Ops:

Q30

Ops:

D. ¢~ 248

If OUGHT is coded as ABCDE in a certain language. How can TOUGH be coded in the same language?
g forht T8 4T & OUGHT & ABCDE & ®U H Geag (a1 ol § | St HTH & TOUGH &1
H PIfSd foam o Havell &2

A. ¢~ ABCDE

B. ¢ BCDEA
C. ¢ CDEAB

D. ~ EABCD

If BITER is coded as KLMNO in a certain language. How can TRIBE be coded in the same language?

gfe fopeft A HeT & BITER & KLMNO & U H hifed foar SIrd 8 1 S {91 & TRIBE &1
Hifsd far o godr 82

A. ¢~ MOLNK
B. ¢~ MOLKN
C. ¢ MOKLN

D. ¢~ MOKNL

\l

Pointing to a man in the Photograph Kabir said, 'His son's mother is the only daughter in law of my mother".

Who is the person in photograph to Kabir?

HICHTE § T 3! B 3R SIRT HXA §U HAR - Hel, D o $I Al B AT i gbal 98 o'

HER B! TR el AT B 82
A. ¢ Brother
B. ¢ Uncle
3fbd
C. ¢ Father
fOar
D. ¢ None of these
IRIgd # A Bls gl
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